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PART—A
GENERAL ABILITY AND INTELLIGENCE

1. Which one among the following metals is Which of the statements given above
not a ferromagnetic material? is/are correct?
(@) Cobalt (@) 1 only
(b) Silver (b) 2 only
(c) Iron (c) Both 1 and 2
(d) Nickel (d) Neither 1 nor 2

5. Which of the following are the major
contaminants from industries and
households that cause cultural
eutrophication?

2. What is the length of a simple pendulum,
which has a frequency of 0-'5Hz
(take g =10 m/s?)?

o (@) Chlorine and aldrin
(b) 2 m (b) Mercury and nitrates
(c) 1'5m (c) Nitrates and phosphates
(d 3 m (d) Phosphates and ammonium
3. Ecotone is a 6. The arrangement and distribution of

(a) diversified ecosystem flowers over a plant is called
(b) transitional ecosystem (a) flowering

(c) transparent ecosystem (b) inflorescence
(d) stagnation ecosystem (c) thalamus

(d) aestivation

4. Consider the following statements about
i e 7. Lichens represent the  symbiotic

i relationships between algae and fungi.
1. Stem cells have the potential for The algae component present in lichen

self-renewal via mitotic cell is best known as

division.

. (a) mycobiont

2. In 1908, James Thomas and his

colleagues first derived human (b) phycobiont

embryonic stem cells from donated il piom

blastocysts through in  vitro

fertilization. (d) symbiont
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8. Fruit formation from the thalamus
instead of ovary is known as false fruit.
The most common examples are

(a) orange and mango
(b) mango and banana
(c) apple and strawberry
(d) guava and cherry
9. The process of degradation of humus by

some microorganisms and release of
inorganic nutrients is known as

(a) eutrophication
(b) mineralization
(c) humification
(d) stratification
10. Which one of the following human cells is
devoid of a nucleus?
(a) Nerve cell
(b) Bone cell
(c) Red blood cell

(d) White blood cell

11. The chemical formula of washing soda is
(a) NaHCOj
(b) Na,COgj
(c) Na,CO5-10H,O

(d) NaOCl

KASC-A-GIP/55A

. Which one of the following is an example

of a physical change?
(a) Ripening of banana
(b) Souring of milk

(c) Melting of ice

(d) Passing CO, gas into water

13. Rhizobium is a

(a) biopesticide
(b) biofertilizer
(c) bioherbicide

(d) mycoherbicide

14. A solution has a pH value around 13-0.

The solution may be called
(a) a strong acid

(b) a strong base

(c) neutral

(d) a weak acid

15. Which one among the following elements

has the highest catenation property?
(a) Silicon

(b) Carbon

(c) Nitrogen

(d) Oxygen

[ P.T.O.
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16. Consider the following statements 18. Which one among the following is not a
regarding landscape : west-flowing river?
1. Bhabar is a narrow belt ranging )
between 8 km-10 km parallel to (@) Mahi
the Shiwalik foothills at the break-

up of the slope. (b} Banas
2. Bhabar is a belt consisting of old (c) Luni
and new alluvial deposited by
rivers. (d) Sabarmati
Which of the statements given above
i ?
#8fwre. correct] 19. Which one among the following cities in
(@ 1 only India is located at the Northernmost
latitude?
(b) 2 only
(c) Both 1 and 2 (a) Sri Ganganagar
(d) Neither 1 nor 2 (b) Nainital
17. Match List-I with List-II and select the (c) Gangtok
correct answer using the code given
below the Lists : (d) Itanagar
List-T List-IT
(Natural disaster) (Category) 20. Consider the following geographical
conditions :
A. Blizzards 1. Terrestrial .
) ) ) Well-drained, rich friable loams
B. Soil erosion 2. Atmospheric containing good deal of minerals,
C. Phkssairi 3. Biological temperature between 15 °C-28 °C and
) ' rainfall between 150 cm-250 cm and
D. Locusts 4. Aquatic altitude variations from 600 m-1600 m
Code :
Which one among the following crops is
(@ A B C D suitable under the above conditions?
3 4 1 2
(b) A B C D (@) Tea
3 1 4 2
© A B c D (b) Coffee
2 1 4 3
(c) Coconut
d) A B c D
2 4 1 3 (d) Cashew nut

KASC-A-GIP/S5A 7 [P.T.O.
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21. Manikaran in Himachal Pradesh is better
known for

(a) bioenergy

(b) paper industry

(c) food processing industry

(d) geothermal energy

22. Which one among the following States in
India shares a boundary with the most
number of States?

(a) Uttar Pradesh

(b) Telangana

(c) Chhattisgarh

(d) Assam

23. Which one among the following places in
India is known for its association with
the pharmaceutical industry?

(a) Ballarpur

(b) Pimpri

(c) Sindri

(d) Mettur

KASC-A-GIP/S55A

24. Match List-1 with List-II and select the
correct answer using the code given
below the Lists :

List-I List-IT
(Tribe) (Dominating region)
A. Gaddi 1. Rajasthan

B. Munda 2. Andaman and
Nicobar Islands

C. Bhil 3. Jharkhand

D. Jarawa 4. Himachal Pradesh

Code

(@) A B D
2 3 1 4

(b) A B c D
2 1 3 4

(c) A B C D
4 3 1 2

(d A B & D
4 1 3 2

25. Which one among the following is not an
area of Marine West Coast Climate?

(a) South-Eastern Australia
(b) North-West Europe
(c) New Zealand

(d) North-West Africa

[ P.T.O.
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26. Which one

among the following
statements with reference to the

Harappan burial ritual is not correct?

(a) At these burials, the dead were
generally laid in pits.

(b) The burial pits were made in
several different ways.

(c) Ornaments have sometimes been
found placed in these burials.

(d) Harappans did not bury mirrors
with the dead.

27. Consider the following statements with

reference to Rudramadevi :

1. Rudramadevi is also known as
Raya-gaja-kesari

2. The inscriptions largely project her
as a heroic king not queen.

Which of the statements given above
is/are correct?

(a) 1 only
(b) 2 only
(c) Both 1 and 2

(d) Neither 1 nor 2

KASC-A-GIP/55A
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28. Who among the following was involved in

the formation of the Bombay Presidency
Association in 18857

(a) Pherozeshah Mehta
(b) Dadabhai Naoroji
(c) Allan Octavian Hume

(d) M. G. Ranade

29. Which among the following was not a

member of the Adhishthana Adhikarana
of Kotivarsha in the Gupta period?

(a) Sarthavaha
(b) Mabhattara
(c) Prathama-kayastha

(d) Prathama-kulika

30. Consider the following statements about

the emergence of national conscious-
ness in India between the 18th and 19th
centuries :

1. The spread of printing press and
education, and inflow of modern
ideas helped Indian regeneration.

2. The reform movements helped
develop a sense of national unity
among the people.

Which of the statements given above
is/are correct?

(@) 1 only
(b) 2 only
(¢) Both 1 and 2

(d) Neither 1 nor 2

[ P.T.O.
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31. What is Hallisalasya as depicted in Bagh

cave paintings?

(a) A classical dance form
(b) A folk dance form

(c) A folk form of theatre

(d) A percussion music instrument

32. One of the frequent representations of

Shri Lakshmi in sculpture is in her
Gaja-Lakshmi form. Consider the
following statements about such
Gaja-Lakshmi form :

1. The goddess sits or stands on a
lotus.

2. She is flanked by two swans.

Which of the statements given above
is/are correct?

(@) 1 only
(b) 2 only
(c) Both 1 and 2

(d) Neither 1 nor 2

33. Consider the following statements about

the historical evidence of inscriptions in
India :

1. The oldest deciphered inscriptions
are in Brahmi and Kharoshthi.

2. The earliest inscriptions in the
Tamil language are copper plate
grants.

KASC-A-GIP/55A

Which of the statements given above
is/are correct?

(@) 1 only
(b) 2 only
(c) Both 1 and 2

(d) Neither 1 nor 2

34. The Dakshinamurti (South-facing) form of

Shiva represents

(a) cosmic dancer
(b) ferocious warrior
(c) universal teacher

(d) lord of beasts

35. Consider the following statements about

the ‘Quit India’ Resolution of 1942 :

1. Its text was carefully drafted to
make it clear that it put India
among the countries at war with
the Axis Powers and fully aligned
with the Allied Powers (United
Nations).

2. It called wupon Britain to
immediately hand over power to an
Indian Provisional Government
composed of representatives of all
sections of the population.

Which of the statements given above
is/are correct?

(@) 1 only

(b) 2 only
(c) Both 1 and 2

(d) Neither 1 nor 2

[P.T.O.
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2. T g % et fawm A i e e} W

fawa =ifvq =

(d) &8

3. ¥RA &% TPYTd W W ST
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36. In India, on which one of the following

grounds can the salaries and

allowances of persons serving in

connection with affairs of the State be

38. If any question arises as to whether a

Member of the Parliament has become
subject to any of the disqualifications
mentioned in Article 102(1), who among

reduced? the following is empowered to take the

final decision?
(a) Financial emergency
(a) The President of India
(b) Internal disturbance
(b) The Prime Minister of India
(c) Failure of the
machinery in a State

constitutional
() The Speaker of the Lok Sabha

. : . (d) The Chief Justice of India
(d) Degradation of public morality

39. What is the quorum for a meeting of the
Committee on Petitions of the Rajya

Sabha?
37. Which of the following is/are exclusive abha
power/powers of the Rajya Sabha? (a) Three
1. The power to initiate a Money Bill
(b) Five
2. To declare a subject in the State
List as a subject of national (c) Seven
importance
(d) Ten

3. To impeach the President of India

Select the correct answer using the code 40. In which year was a Cabinet resolution

given below. passed to replace the Planning
Commission with NITI Aayog?
(@) 1, 2 and 3 (@ 2014
(b) 2 only (b) 2015
(c) 2 and 3 only (c) 2016
(@) 1 only (d) 2018
KASC-A-GIP/55A 15 [ P-T:O.



41. ffafea & @ frm fafts o3 &1 ad ‘&= () TS, wRa & Tsaad A foeft =afe &

IRY W E 7Y faftr % vme wmen @ afva & w=om)

(@) BIIY FlHH (d) TSF, IRG % Te9ad # R-AwieH i
faftr % wueg guar @ afeq T8 =om|

(b) FemE

(c) 3T 3T urn

44, THEa YRl i gEdm "o & Fefefaa
JEgHEl § § $H-91 98 e & B T

Sl Ml = ® WO, wWaEar 3R @ A ogen ==
iR 2777
42. WRA ¥ Frefafaa § ¥ fra oo # fuw g (a) ¥R 1
27
(b) TR 2
(a) Temr
(c) FF=BT 3
(b) fm ST
(d) e 4
(c) W I_W
(d) wFAEH
45, f=fafiga § @ F9-dt wwr wra & dfaum i
et g # wifter T 27
43, WA % WEAUA % AR 14 F AER, (@)
frafafga 4 @ F9-w ad = 27
(@) Tafer % wne g@ar Faa IRE F AT b} i
% T B
(c) Heredt
(b) T WRA & Tsaad § =t =
fafert =61 v wraw giifia s 2 (d) <ErE
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41. Which one among the following legal
maxims means ‘we command’?

(a) Habeas corpus

(b) Mandamus

(c) Audi alteram partem

(d) Non bis in idem

42. Which one of the following States of India
does not have a Legislative Council?

(a) Bihar

(b) West Bengal

(c) Uttar Pradesh

(d) Karnataka

43. Which one among the following is not

correct as per Article 14 of the
Constitution of India?

(a) Equality before law is guaranteed
to citizens of India only.

(b) It secures for any person equal
protection of laws within the
territory of India.

KASC-A-GIP/55A 17

(c)

(@)

The State shall not deny to any
person equality before law within
the territory of India.

The State shall not deny to
non-citizens equality before law
within the territory of India.

44, Which one of the following provisions of

the Universal Declaration of Human
Rights states, “Everyone has the right to
life, liberty and security of person™?

(@)

(b)

(c)

(d)

Article 1

Article 2

Article 3

Article 4

45. Which one of the following languages is
not included in the Eighth Schedule of
the Constitution of India?

(@)

(b)

()

(@)

Bodo

Maithili

Santhali

Ladakhi

[ P.T.O.



46. Th FHA JW ww A A O R fEd

YR R FAl &1 SO 1 = wawma ot
# 25% ®M™, 20% B 3R 20% 7 Bt )
Fu H eft frdt § =pan feam @™ @
fopaft wif Bt =fRe aifeh 3@ For foremaR id
1T 9 /Y

(@) 20% @™

(b) 20% T

(c) 25% @™

(d) 25% &

47. Fefafed Tea = 9@ =1 27

1 1 1

(J§+JI)+(J§+J§)+(JZ+J’3')+"'
1

" 100 +v99)
(@ 9
(b) 8
© 7
d) 6
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48. Fr=fafiga Trmea w o= fifsw -

@37 +46@ + S@3 = 1@@

I e | @ Frefafea 4 @ fFa fefim
a1 87

(a) wsft 7Rt A

(b) S W IR R

(c) Faa fawm it #

(d) Tereht 37 1 T

pa> =@,?ﬁxmmw%?
0-625 x

(a) 0-0625

(b) 0-00625

(€ 625

(d) 0-000625



46. A company calculates its profit or loss 48. Consider the following sum :
quarterly. The company makes 25%
profit, 20% loss and 20% loss in three @37 + 46@ + 5@3 = Q@@
consecutive quarters. What minimum
profit or loss should the company make
in fourth quarter to have no loss
overall? In the above sum, @ stands for which

one among the following?

(@) 20% profit

(b) 20% loss: (a) For all digits

0,
(c) 25% profit (b) For even digits only

d) 25% 1
(@ i (c) For odd digits only

(d) For no digits
47. What is the value of the following sum?

1 1 1
(J§+«/T)+(\/§+«/§)+(«/Z+«f§)+"'

1

' (100 ++/99) 49. If o E, then the value of x is
0-625 x
W o (@) 0-0625
. (b) 0-00625
. (c) 625
@ 6 (d) 0-000625
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50. ®1E 9T R 1 20 fedi & fow sqyam s =i

30 feqi & forw 3a= 37 3g w@iw ®) 7@ w=ufy

53. 1M wife % $2 @@ wmf 7, st wE W %

foru x feai & fow wiw 21 20 f&&1 & 9., dm

I Ay e A & o amm @ g F 25% He W VI I 2l - @ ™

e grfi? 3y @ g, N9 TR H e x fel 9%
faem™ % fora wafe ) x &1 9@ =1 27

(@ 12f=
(@) 80

(b) 15 T b 72

() 11f& © 60

(d) 20 &= @ 40

51. Tt o & fasra qog ok @Fa qo9 & o9 =

g 2
84. W x:y=3:7, W X -2V o

FIAE 7:4 B 3G I F A IR AE oA xy
¥ 9 #1 U = R7 TR 87
(@) 3:4 (a) —g—%
(b) 4:3 61
(b) 5
(c) 5:4
63
d) 7:3 @ 51
64
@ -5

52. T ¢4 90 km/h i 7fd @ =« @ 2, fSwh
@ 335m B 3 3 H 290m A

AL I AR F 3 for o 55. af x ¥ Vx % 80 &, & x F1 &7
@) 25 s (@) 100
(b)) 23s (b) 200
() 20s (c) 400
(d) 30 s (d) 800
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50. An amount is adequate to pay salaries to

R for 20 days or to S for 30 days. For
how many days is the money enough to
cover salaries of both of them together?

53. Assume there to be some foodstuff that is

sufficient for a team for x number of
days. After 20 days, 25% of team
members happen to quit. It is observed
that the remaining foodstuff is sufficient

(a) 12 days to feed the remaining members for
another x number of days. What is the
(b) 15 days value of x?
(c) 11 days (a) 80
(d) 20 days (b) 72
(c) 60
51. The ratio between the sale price and the @ 40
cost price of an article is 7:4. What is
the ratio between the profit and the cost
i f that article? g, 2
L . i 54. If x:y=3:7 then S 2 is
Xy
(@) 3:4 equal to
62
. a s
(b) 4:3 (a) 5
(c) 5:4 61
(b) 5
(a 7:3
63
C ————
(c) a3

52. A train with a length of 335m is
travelling at a speed of 90 km/h. What (d)
is the time taken by the train to pass a

i
21

290 m long platform?
55. If /x % of x is 80, then what is x?

@ 25s (a) 100
e (b) 200
(g 20 s (c) 400
(d 30s (d) 800
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56. Trd AT v G # 3fEa 13 71 Ak

Iprelt fF wATE vgul wenel w oft e
T S, @ I T Sfea & g

(@) 15-0
(b) 14-5
(c) 13-5

[d) 13-0

57. T&% ARk IR fewn # 7 km =ern g, 3R

T8 qd Y 3R 4 km Faar & a1 R afEor i
3R 4 km Jea1 81 3@ 98 o q@ ol |
foraft gz ofit form foam & 27

(@) 5 km fur-gd fewm |
(b) 5 km IW-y4 fewn §
() 15 km qd fewm i 3R
(d) 7 km 3R famm $it 3

58. fmfufiaa o= & @ #9-@1, 273" # 6

o | oft 7 B wwar, FE o

ST qUITe &7
(@) 1

(b) 3
e} 5

d 7
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59.

1 icalisdin ?
vEen
(@ J2-J3+2

(b) V2+3+2

() J2+J6+2

(d) J2-J6+2

60. Fr=fefiga weFi 3 fFrewel w fa=m fifsw

FH1:FS P, QI
%9 11 : Y% R, Q )

e 1:3® P, RZ
frerd 11 : w1% R, PRI

I el & @ F9-w/aR-8 ffia v a
Frepren s wehar &/FeFret S Hehd 87

(@) Faa e 1
(b) Faw Frerd 11
(c) Toepd 1 3R 11 <M

(d Faferd1smadn




56. The average of seven consecutive natural
numbers is 13. If the next three
consecutive natural numbers are also

59 . N is equal to
* 1+442+43

included, the new average will be (@ 2-3+2
(@) 15-0
(b) 14-5 (b) J2+3+2
(c) 13-5

(c) J2+/6+2
(d) 13-0

57. A man walks 7 km in the North direction. (@) V2-6+2
He then walks 4 km Eastward, and then
4 km Southward. How far and in which
direction is he now from his original
position? 60. Consider the following statements and
conclusions :

(a) 5 km in South-East direction
Statement I : Some P are Q.

(p) 5 km in North-East direction Statement II : Every R is Q.

(c) 15 km towards East direction Cotichiaton ] : Some Pate

(d) 7 km towards North direction Conclusion II : Every R is P.

58. Which one among the following digits can Which of the above conclusions can be

never be at the units place in 273)", certainly drawn?

where n is a positive integer?

(a) Conclusion I only

(@) 1
Conclusion II onl
b 3 (b) y
© 5 (c) Both conclusions I and II
a 7 (d) Neither conclusion I nor II
KASC-A-GIP/55A 23 [P.T.O.



61. Afifg Hemdt # Fafafea 4 9 fem & o = fow e e w1 W W ad W g
e JEHR (2023) fHen?

(@) Fad 1
(a) ifa PR S
i e (c) 1 3R 22
(c) STRfeH (d) Fd 1WA 2
(d) TEEH-ITE

64. f=fafga @ @ fras g0 mE @, 2023 @
@l yaE Siad G 39 w1 ARE W A @

62. G20 ¥ fawa #, f=fafga & @ FF-w/a9-3 i it T 37

wdé B/27
1. Tow X TR giaeE T8 2 (@) STIH, ¥RA, HIRET TS

2. FE 20 vy N=fe W F A

. (b) WTIH, I TURTST, WRA
faftrm: e sl = grn wnfia 21

3. v dw A s v e R fe) AR ORI, WA, ST
4. G20 # T @ ‘Wl wfafE’ § ¥ (d) WTE, FIRET TR, AGH
2
A fo e g2 1 AR A IR g 65. Frffiaa § 3 Frd/fe 2023 § Pren fim
e T /XYl o ®9 § ifva fomem wan?
(@ 132
1. OicEn, TSR
(b) FI 4 2. AeR # drrEen wfe
© 334 3. wnfafyeas, afém sme
4. THW HE
(d) 13R3
= fau T g2 @ W W wd I g

63. T e R & favr &, Prefiea st 3§ fa). 19K 2

FH-91 /-8 T B/87 (b) ¥aa 3
1. 98 28 HEd & 591 Sl 2|

2. I8 U SgFEE & 9 d¥aicdd W
TEd 2| (d) e 2 3R 3

(c) 2,334
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61. Narges Mohammadi received the Nobel
Prize (2023) in which one of the
following fields?

(a) Peace
(b) Physiology
(c) Medicine

(d) Chemistry

62. Which of the following is/are correct
about G20?

1. It has no permanent secretariat.

2. It was founded on a legally binding
international agreement between
20 top industrialized countries.

3. Each country is led by a Sherpa.

4. Spain is one of the two Permanent
Invitees’ to G20.

Select the correct answer using the code
given below.

(@) 1 and 2
(b) 4 only
(c) 3 and 4

(d 1 and 3

63. Which of the following statements about
the National Sports Day is/are correct?

1. It is observed on 28th February.

2. It coincides with the birth
anniversary of Major Dhyan Chand.

KASC-A-GIP/S55A
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Select the correct answer using the code
given below.

(a) 1 only
(b) 2 only
() Both 1 and 2

(d) Neither 1 nor 2

64. Which one of the following represents

the correct sequence of countries in
ascending order of Gold Medals won
in the Asian Games, 2023?

(a) Japan, India, Republic of Korea
(b) Japan, Republic of Korea, India
(c) Republic of Korea, India, Japan

(d) India, Republic of Korea, Japan

65. Which among the following was/were

declared UNESCQO’s World Heritage
Site/Sites in 2023?

1. Dholavira, Gujarat

2. Hoysala Temple of Belur
3. Santiniketan, West Bengal
4

Ramappa Temple

Select the correct answer using the code
given below.

(@) 1 and 2
(b) 3 only
(c) 2, 3 and 4

(d) 2 and 3 only

[ P.T.O.



66. TITH, Uk Hasvl b, @ femrsw 2023 #

R e R " T, % faww §
Frafafaa wui w faar fifse .

1. 39 A i wufie gt § 8 s,
JEOTE W WU qdE i du-aix
ETESITIGe Ha&u T B

2. 79 dra & Fmio @ ok Amie st
% fou wqg-fagm ofR pifadia <@
A FA % fore foman e R

IR HYE § ¥ FH-91/FH-9 6 2/27
(@) Faa 1

(b) = 2

(c) 1 3R 2eH

(d I@13IMAE2

67. frfafaa # & fore g&as F o TR, 2023

Sfran?

(@) 3 &t feT

(b) T EIEH 3% S
(c) TTa A% I g
(d) ¥i%e giT

68. WA WK g Gdifsd Frmg (Ho sffo Sfto)

F I H Tedrted F & forg Frfafaa 4

¥ HH-91 U™ fR o1 @ 2/@R-1 U T

@ &7

1. «E-Hlo THe Hlo & IUEA & fore §I=
wfYa #4 3g F2 fofa qeEar wem
FE

2. Hio dfto Sfto ufisFrRT W1 Wufiwar &=
FUT % qEd qHTEE

3. ufEsFst ® it e % fore snfaa
HYfHT % TrTd & fore H-ges | g2
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69. ‘faewan dE-w@R @

= fou MU e = W@ = wE IW gAY
(@) Fa@ 1 3R 2
(b) Faw 2 IR 3
€ 1,23R3

(d) a1

% fwm 4,
Frafafea § @ F9-w w9 ad T4 27

(a) & IFETE T | B
(b) TE ARUM HEWR GRFISET 1 W B
(c) T€ U TIHF-134 W 9|

(d) wa Fmior ard wd Temm it
g o = @ )

70. dio Mo o #flo TWo uFo F faww #,

Frafafiea & & ®=F-w1 %@ vt 7 27

(@) ¥& wid, fomaam o aieew & =
TF G 8 AW R

(b) THE! TG 2018 | g ot

(c) TUH TE TR FEAgR § AESE
o )

(d) 2023 ¥, IRAE I@ § ST I 9
&1 gl e wmfde o)



68. Which of the following

66. Consider the following statements about

Sandhayak, a Survey Vessel Ship,
which was delivered to the Indian Navy
in December 2023 :

1. One of the primary roles of the Ship
is to make a full-scale coastal and
deep-water hydrographic survey of

ports.

2. The Ship is made to collect
oceanographic and geophysical
data for defence and civil
applications.

Which of the statements given above
is/are correct?

(a) 1 only

(b) 2 only

(c) Both 1 and 2
(d) Neither 1 nor 2

67. Which one among the following books is

the winner of the Booker Prize, 20237
(a) The Bee Sting

(b) The House of Doors

(c) A Spell of Good Things

(d) Prophet Song

is/are the

measure/measures undertaken by the

Government of India to promote the

production of Compressed Bio-Gas

(CBG)?

1. Central financial assistance for
setting up of plants for generation
of Bio-CNG

2. Inclusion of CBG projects under
Priority Sector Lending

3. Concession on customs duty for
the import of machinery required
for setting up of projects
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Select the correct answer using the code
given below.

(@) 1 and 2 only
(p) 2 and 3 only
() 1,2 and 3

(d) 1 only

69. Which one of the following statements

about ‘Silkyara Bend-Barkot Tunnel’ is
not correct?

(a) 1t is in the State of Uttarakhand.

(b) 1t is a part of ‘Chardham Mahamarg
Pariyojana’.

(c) 1t falls along NH-134.

(d) 1t is being built by the National
Highways Authority of India.

Which one among the following
statements about VINBAX is not
correct?

(@ It is a Joint Military Exercise
between India, Vietnam and
Bangladesh.

(b) 1t was instituted in 2018.

(c) Its first edition was conducted at
Jabalpur.

(d) In 2023, Indian contingent
comprised the Engineer Regiment
of the Bengal Engineer Group.

[P.T.O.



71. GENITE W FARS (o THo Hio) & faw 73. WRa # & glaensd & geay #, Fefafea d
#, frefofiaa & & SF-81 99 ad 78 27 ¥ FH-H1 FI TE TE 27

(@ 2012 ¥ Gyw Ty 12 =R = (@) ﬁ-ﬁﬁ;ﬁ—wﬁwﬁ (sfi-ferfeirem)
‘Sl e @R FRe R e

¥ &9 § 5 @ 2 (b) v % wgeR g wE R
(To To TAo THo Uo) % HIEHH-IYE

(b) Fo To Hio & AT (W) TE B £
5 yds =afe A a3k wwd
W ¥4 a% g9 UH @l | (c) o wwel i @vieH & fog wira o
faftm et w guffa aiftfsees =mmes
(c) Taa fawm @it 1 98 W@ @ R &
d q [T wEREd fefea
(d) STEE FaE, ¥a1 Faw IR fadiw ()xﬁmﬁmél
T o THo Hio & IEW £

74. v § Fafafes 4 4 /e 99 1 2014-

R VI SIS P o [N 2015 ¥ 2023-2024 & FM THAEW W
A, SN R ST R
1. 9% 9 Utk HAed, MRd WER & HH (@) 3TY TN
T wes T e % g § ofaw
FE-T1E0 1 T TS 2| (b) FHieH
2. Sffo 3o Hio To TH T A B, S () IT I
11 391 % 275 ¥ i A Fe-ved
=l it St B (d) T 9=
FUA § 4 BA-91/H9-8 98 2/27
b o R 75. UNFCCC-cOP28 ffafiaa o @ fohm wet #
(@) W1 st fom e an?
(@) I Ta-3@
(b) FHaA 2
(b) T
) 1 3R 2 3H o :
(d Fd@13mAd2 (d) =%
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71. Which one among the following 73. Which one among the following

statements about Universal Health statements with regard to the legal
Coverage (UHC) is not correct? facilities in India is not correct?
(a) The United Nations is observing (a) Tele-Law is a pre-litigation advice
12th December as the mechanism.
‘International Universal Health
Coverage Day’ since 2012. (b) The President of India is Patron-in-

Chief of National Legal Services

() UHC’s motto is that everyone Authority (NALSA).

should have access to quality and
affordable healthcare. () There are dedicated Commercial

Courts at various places in India to

(c) 1t is a central aspect of Sustainable handle commercial cases.

Development Goals.
(d) Some courts in India are paperless

(d) Population coverage, service Digital Commercial Courts.

coverage and financial protection

are dimensions of UHC. . A
74. Which one among the following States

in India has received maximum funds
under Sub-Mission on Agriculture

72. Consider the following statements about Mechanisatian from 2014-3818 48

the Global River Cities Alliance (GRCA) :

2023-2024?
1. It is an alliance of global river cities
led by the National Mission for (@) Andhra Pradesh
Clean Ganga under the Ministry of
Jal Shakti, Government of India. (b) Karnataka
2. GRCA is a unique alliance covering (c) Uttar Pradesh
more than 275 global river cities in
11 countries. (d) Madhya Pradesh

Which of the statements given above
is/are correct? 75. UNFCCC-COP28 was held in which one
of the following cities?

(@) 1 only (a) Sharm el-Sheikh
(b) 2 only (b) Dubai

(c) Both 1 and 2 (c) Glasgow

(d) Neither 1 nor 2 (d) Baku

KASC-A-GIP/S5A 29 [P.T.O.



HT—B

gives wive

76. Tdo o TWHo THo H, 7Y IR st # fork 81. e & WER #
fopu, Tu Sfape #1 @ien & forg frfafiaa o (@) @R R
¥ foperent v foma stram 27 (b) wEEE R
(a) _self (b) _link © e
(c) _blank (d) _open @) RTIATIN

. Ifada T=hIfST % dey d, .

” woiﬁ,ww;@ L 82. Frerffan & #-, 21 % o Ferlfén
) @mWﬁm‘Fﬁi F fom siffewa i fawew & mam B 87
(b) e Fiwwte Wi fa) AT S
(c) T ZrewiieH wite (b) ST
(d) Ttk TEHHIA BiH (c) T WHMW (S 1EE)

d Fa

78. "Wl hl T TgHEA e F 87 T LR
(@) e (b) T 83. Wo THo UwW F1 §7
c) T2 (@ = (@) HauTE (FEeme) o e wo wHo

79. fafafga 4 4 F-w/aR-8 @i feamm
8/37
1. @dia
2. TEEhHA

= faw e e 1 W 3w g
(@) Faa 1

(b) HEA 2

(c) 132 2M

(d I 1ARTE2

80. frdt sz wurelt #, fafga wemstt (W<
J) # fFas g e adft e s g
??
(a) Tafea afwmr (aes AffesgE)
(b) T 1 G (T Hifeere)
(c) N H T (ZH Fifremie)
(d) I gt (v ifes)
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(b) T Eo o Wo THo
() fmeft (fsae-3ifagg) o o
THo THo
(d) EHEEEF (TEEFA) o dfo wo
THo
3o THo 3MZo Hisd & fohH TR W, Tk fdfier’
yeferd &rar 27
(@) Tofsa
(b) < forh
(c) T
(d) USieIH

4A9-2B I TWE WH 1 87
(@) 11931679
() 119:31679
(c) 11-931679
(d) 1-1931679



PART—B
PROFESSIONAL SKILL

76. In HTML, which one of the following is
used to open the linked document in a
new browser window?

(@) _self (b)
() _blank (d)

_link
_open

77. In the context of universal character
encoding standard, UTF stands for

(a)

(b) Unicode Transformation Form

Unicode Transformation Format

(c) Unique Transformation Format

(d) Unique Transformation Form
78. The smallest addressable unit of
memory is
(@) Dbit (b) byte
(c) word (d) nibble

79. Which of the following is/are pointing
device/devices?
1. Trackball
2. Touchscreen
Select the correct answer using the code
given below.
(@) 1 only
(b) 2 only
() Both 1 and 2
(d) Neither 1 nor 2

80. In a computer system, the signed
numbers cannot be represented by

(@)

(b) one’s complement

signed magnitude

(c) two’s complement

(d) float magnitude
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81. Histogram is a type of
(a) line chart
(b) pie chart
(c) bar chart
(d) donut chart

82. Which one of the following is the medium
in optical storage system for reading
and recording data?

(a) Ultraviolet light

(b) Laser light

(c) Black light

(d) High-energy visible light

83. MS Access is a/an
(a) relational DBMS
(b) network DBMS
(c) object-oriented DBMS
(d) hierarchical DBMS

84. On which layer of the OSI model does a
‘repeater’ operate?

(a) Physical
(b) Data link
(c) Network
(@)

Presentation

85. The decimal value of 4A9-2B is
(@) 1193-1679
(b) 119-31679
(c) 11-931679
(d) 1-1931679

[ P.T.O.



86. ftaN R JHuH * way #, FEeE &

At A a9 @ e o e,
3R Bfref wg forelt areemfores wftfefa & @am
¥ fued § anveEs @ gshar 8 3R gewmEA §
Aefenifers @9 UTH B Gkt B

sirenfis gean & fou fafafea @ @ B
T | 77 HYA Haitus IUYE 27

(@) TS
(b) ESATA F I FHATE
(c) TIE % SN HRATS

(d) af¥a Je-vEeA

87. Tt w3 ¥ = I @ Fasw wa 4,

frefafaa & @ F9-w FaEs nfim T 27
(a) Iufeafa et

(b) =TEd TR

(c) Tt 3rew

(d) e TRt

88. UFg d1ed (FI1 o) F TTeishl &I o<t A0 o

q%g & wd o Fafafes & @ fea/fem
o1 /amat & a9y s wE =fee?

1. EfSa geen

2. et gferd ferTt
3. ufda Fmarma Reda
4. W ol
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= fau T gz @ W R W g
(@ 132
(b) 2 33
(c) 334
(d) %ad 1

89. UN® Fwrg archt e ufwm dar (Wfie

o) = it gedew, feffed § @
freriy e e e

1. fid W HRER TR MR
2. @i (TEH) A
3. HEAT dR SER

= faw o e w1 v W A I g
(@) Faa 1 3R 2
(b) ¥aa 1 3R 3
€ 1,233
(d) %a@ 2 3R 3

90. ‘sfrenfi 3usEw ¥ Foreft srgHfea sam @ weg

I3 ITHA ANTA & 3N 3HFH Fata et 3=
T a1 TR T SR, FRER 91 9491 °
@m g IR ft @ f wwe fafu gm
fafmafim = = siafe e @@
wfufam, 1968 #it f=fafea & @ fFw
T 74 uftenfya feman mam 27

(@) ¥ 2(1)(a)
(b) =W 2(1)(b)
(c) & 2(1)(c)

(@) =W 2(1)(d)



86. While maintaining the employer’s rights Select the correct answer using the code
in respect of trespass and damage, given below.
an impartial, courteous and friendly

attitude can yield dividends in taking @ 1 and2

the heat out of an immediate situation (b)) 2 and 3

and yield long-term dividends in the

form of goodwill. (c) 3 and 4
(d) 1 only

In which one among the following
references will this statement be most

appropriate for industrial security? 89. A perimeter wall of standard height

should have further reinforcement with

which of the following?

(a) Counter-intelligence i
1. Barbed wire on top

(b) Action during strike 2. Setting spikes

3. Concertina wire
(c) Action during patrolling

Select the correct answer using the code
(d) Enhanced housekeeping given below.

(@) 1 and 2 only
87. Which one of the following documents is

not required in the control room of the () 1 and 3 only
i ?
main gate of a plant: o 1 Sasd 3

(a) Attendance register (d) 2 and 3 only

(b) Vehicle register 90. Industrial undertaking’ means any

i) Standing drdbs undertaking pertaining to a scheduled

industry, and includes an undertaking
(d) Crime register engaged in any other industry, or in any
trade, business or service which may be

regulated by the Parliament by law.
88. The drivers of the cash vans, while

carrying heavy cash, should pay special
attention to which of the following?

Which one among the following Sections
of the CISF Act, 1968 defines this?

1. Staged accidents (@) Section 2(1)(a)
2. Fake police officers (b) Section 2(1)(b)
3. Expected traffic diversions (c) Section 2(1)(c)
4. Normal speed breakers (d) Section 2(1)(d)
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91. Ifd WMy ‘wfimy’ s F Fwiq guw o= 94, ffafga & & #9-8, Afmmws fogFE @

21 7§ ) ey JY-dm | avE Fa § (wrr feiwer facen) & yr &7
ot i oft, A Fl i g s @ 9. it
et freferfiaa @ @ forg oy a6 o T 27 '
5 3. TE-yuEH ($E) Y
ot 4, HEE-aF (SH)
(b) 28 Td
9 fou g2 W W W wd W ghe)
(c) 29§
(@) Fa« 1 3R 3
(d) 30 T4
(b) ¥aw 2, 3 3R 4
92. o Ho To THo ¥ frwn-fidvit % gER, W () ¥ 1, 23R4
F iR ey I3 W frdt g amft 3o @ @ 1,2, 334
N & fou sgua Fumr fi it =ied
s et 27

95. ¥4 iEifis T F@ F "W IA

(@) 439 % e H Y FA @98 7 5 e e . sk

(b) FAH 6 T % IS F WY FA @A why (%R fam) #) 9r Fafafes & @ o
9% Rrara, = hafie el w0 g
() R 6 % = ¥ Wy g w S e 4
108 (a) Tomgq @&
(d) FF 4 39 F e & Y FA A& (b) FEE @A
9
, (c) = Trerg
93. ¥ i gem =@ sfufem, 1968 (d) 3o WA
e a4 fRT TC G F g FE WER
Kﬁzﬁamﬁmﬁ %::;H‘Lm 96. F=1g 3MEifies e s« I wewyw Ffafaa
3 e ?
-8 ¥ gfg 7 7 44 & e T A
(@) 1983 (@) e
(b) 1989 (b) AR
(c) 1999 (c) JHaAWI
(d) 2009 (@ uE
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91. In case you had joined the armed forces 94. Which of the following are the types of
at the upper age limit of 21 years under fire sprinkler systems?
the ‘Agneepath’ Scheme in the first

batch and you had served 4 years, you D

can be recruited by CISF until the age of 2. Pre-action

(@) 27 years 3. Dry pipe

(b) 28 years 4 Deluge

(c) 29 years Select the correct answer using the code
given below.

(d) 30 years

(@) 1 and 3 only

92. As per the BCAS guidelines, what is the
maximum permissible length of a
Kirpan allowed to be carried by a Sikh
passenger on a domestic flight within

(b) 2, 3 and 4 only

(c) 1, 2 and 4 only

India? (d 1,2, 3 and 4
(a) 7 inches total length with a blade of
4 inches 95. CISF has a highly specialized, trained

and fully equipped fire wing. It provides
fire coverage to industrial establish-
ments, except

(b) 9 inches total length with a blade
not exceeding 6 inches

(c) 10 inches total length with a blade
not exceeding 6 inches

(a) power plants

(b) coal mines
(d) 9 inches total length with a blade

not exceeding 4 inches (c) oil refineries

(d) fertilizer plants
93. In which year did the amendment to the

CISF Act, 1968 enhance the territorial
purview of the force by enabling the 96. CISF was first inducted in which one
Central Government to deploy it outside among the following airports?
the geographical jurisdiction of India?
(a) New Delhi

(@) 1983

(b) 1989 i Jahgsr
(c) 1999 (c) Amritsar
(d) 2009 (d) Mumbai
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97. & ITEHRI | Hio Mo Fo w1 Frefa e

#?

(@) FNEI =M

(b) ¥z fea gieiet
(c) hima fedie zmfim
(d) I 7 & FE 7

98. fmfifigd 4 @ ®-41, &F-Fva (Feshee)

3R Wr-Fwe (2fFeaw) F ata R § 99
% for wrepfoer smre i 27

(a) TE
(b) g &M
(c) &

(d) fawta e

99, #F-He (FleeHe) 3R W-Hwe (fFeT)

¥ fy fsw sy # e g afnfia
fopa w27

q
TR HT EEe ()

1.
!

3. 2R ® =W
4. BrR i e

= fau T e = W R IW gh)
(@) Faa 1, 2 3R 3

(b) Faw 2 3R 4

(c) Fa« 1, 3 3R 4

d 1,2, 334
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100. F=fafaa # @ +9-8 g&1 1 &, | @

3R YW F HHIE F gIIEE = B

1. =

2. &M 3R frEm

3. wRR i famm

4. F9-U-59 g9 § AfE-R-afe wRR
firm 6t arpa

= fau mu e w1 W W A IW ghm)

(@ Faa 1, 2 3R 3

(b) Faw 2 3R 4

(c) Fa« 1, 3 3R 4

d) 1,2, 334

101. %= fefie g s« wfufem, 1968 &

ey i, ffafaa & 4 SF-w1/a9-8 FF

udt B/87

1. ®3@ oienfe gan s« aAfufem 6
g/ 10, SI-GSE1 % Hded 4 et 2|

2. *2m IiEifie gan s@ afufem f
g 11, 92 & fa finer =@ f
wifts & gaftd 21

3. 3@ Iienfie ganm s« Afufem 6i
ar 12, freart & v e it S
et ufshan & daftm R)

4. FH@ e gan s@ sfutem f
R 13, 92 & faan qemsht 91 i ufe
¥ gafta 21

= few T g2 w1 W W o W gy
(@ 13R4
(b) 2 3R 3
© 13R2
(d) Faa 2



97. CRT in the context of security equipment

stands for

(@)
(b)
(c)
(@)

Cathode Ray Tube
Central Research Transponder
Common Repeater Timing

None of the above

98. Which one among the following is not a

natural cover from fire in fieldcraft and
tactics?

(@)
(b)
(c)
(@)

Ravine
Hollow
Bush

Reverse slope

99, Fire control order in fieldcraft and tactics
is defined by which of the following?

i 3

b0

Group
Range
Indication of target

Type of fire

Select the correct answer using the code

given below.

(@)
(b)
(c)
(@)

1, 2 and 3 only
2 and 4 only
1, 3 and 4 only

1,2, 3 and 4
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100. Which among the following are the main

factors that affect the formation of
platoon and section?

1. Terrain

2 Command and control

3. Direction of fire

4., Maximum within
minimum time

firepower

Select the correct answer using the code
given below.

(@) 1, 2 and 3 only
(b) 2 and 4 only
(¢ 1, 3 and 4 only
(d) 1,2, 3 and 4

101. With reference to the CISF Act, 1968,

which of the following statements is/are
correct?

1. Section 10 of the CISF Act deals
with the duties of the members of
the force.

2. Section 11 of the CISF Act deals
with the powers of arrest without
warrant.

3. Section 12 of the CISF Act deals
with the procedure to be followed
after arrest.

4. Section 13 of the CISF Act deals
with the powers of search without
warrant.

Select the correct answer using the code
given below.

(@) 1 and 4
(p) 2 and 3
(c) 1 and 2
(d) 2 only

[ P.T.O.



102. %=1 fafaa dand (affeo, Feem s ardia)
Frmmaeft, 1965 % ogEr, Feafafea 4 @
FH frdt Tl wiel W fefa =98 %
fore wam wiftert T 27

(@) Tgfe miteerdt

(b) e wE wiiteer, Pt sl foes
arefiey

(c) IFFTERE it
(d) = Wit

103. ¥ fafee damd (sm=rw) Feammaed, 1964 &
Iger, Frefafaa @ @ $9-d6 ofafafy & e
fafta w1 oedigh/smt

STavIFal TE 87

(@) Tafea am a1 & wadeEs % w9 °
i g

() T waftElt & IR wiwr w1, v
T fafea € & siftrs &

c) Tt st ardefe fem @ =afe &
fore fore o @t 3G o SR wE
(d) ¥RA ¥9% TN FRT ARG g7 §

Grelt THF & SR 9 o

104. iR A =i Fafafes & @ fred g s
ST FeaT &7

(a) e g, wd-30 g, wqf g
(b) S A, i g, o gl
(c) -3 g2, WA g2, I g
(d) e g, fige g2, swawa g,

T FEl
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105. gt I=n fama (Tdo fo Hio) w1 @M W

T 10 T a5 6t sl gf 3 Todlew &
o, Fdiem it sy F wra-wg & s @
gz i sy # e #§ @ gu, e
TWEHH FHIR & @ | F9-9-59 fhad fom
+ g W e =fea?

(@ 180 &=

(b) 30 T

(c) 90 f&=

(d) 300 f=

106. F=1 Nt e e % 4N T (S @)

! frerferfia i & /Rt g s v
% fore, wifira f S 37

1. wifes ePRm

2. @ (T verd)

3. I9R Ud a&H1 ¥ A U @ e
4. mogoﬁo

Hi= g e gz #1 W@ W wd I ghy
(@) 1 3R 2

(b) FaA 2

(c) 133

(d) 2 3R 4



102. As per the CCS (CCA) Rules, 1965,

which one among the following is not
the competent authority to place a
government servant under suspension?

(a) Appointing authority

(b) Any authority, to which the
appointing authority is subordinate

(c) Disciplinary authority

(d) Inquiry authority

103. As per the CCS (Conduct) Rules, 1964,

which one among the following activities
does not require sanction/permission of
the prescribed authority?

(a) To join as volunteers in civil
defence service

(b) To accept gifts from near relatives,
when value exceeds prescribed
limits

(c) To accept fee for work done for any

private or public body, or person

(d) To participate in Shramdaan
organized by Bharat Sevak Samaj
during spare time

104. Earned leave can be combined with

which of the following?

(a) Casual leave, half pay leave,
maternity leave

(b) Casual leave, maternity leave,
study leave

(c) Half pay leave, maternity leave, sick
leave

(d) Casual leave, paternity leave, sick
leave, study leave

KASC-A-GIP/55A

105. For an encashment of earned leave of

up to 10 days at the time of availing
LTC, a balance of at least how many
days should be available to a
government servant’s credit after taking
into account the period of encashment
as well as leave being availed of ?

(a) 180 days
(b) 30 days
(c) 90 days

(d) 300 days

106. The dog squad of CISF is trained to sniff

and identify which of the following?

1. Metallic weapons

2. Narcotics

3. Pickle and smuggled food items
4

IEDs

Select the correct answer using the code
given below.

(@ 1 and 2
(b) 2 only

(¢ 1 and 3
(d) 2 and 4

[ P.T.O.



107. 9 2006 #, F3 el g aa 3 G-

WTH @RI G YW F % fore faeiw guan
R (We o o) dme fafte =E A
TyTgan Y| Frefafaa 8 @ #9-w1, 9% wdea
=1 fean =i 27

(@) TR GL&n YeH

(b) T s R § gen-ww @ w®
femrern

() m-ffde =afeat A =@ R =«
feufaat & gan wam &

(d) TREN-9TR Ak getE iR afaet ®@
T WaH

108. B9 I4 ITW H F FEd & 9@ @ R

TUR-9H =afth & =R AR @S e I8
Toia & % 3 foreft @ @ areewa €, ol 3w
s 1 q9 q% T &l 34, 99 a6 o 98
=fth 39 F F FE F T gEwa T @ W,
S @ 9Ted 87

(@) TRy

(b) HEW Y
(c) el
(d) E

109. 1 faftm wial & e f 1 wEd 21

Frafafaa § & FF-w1, JEET @ FA H=;
fowedia e T 27

(a) I9E 37 9w St ()

(b) e (ATaTEH) G

(c) FIR-FFriIfd (FW2e) go

(d) el (CReETS) % Wem @ ww
ElEEat]
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110. f=fafiga 8 & #9-w, a0 Fg=A IR Fwem

g (o o Fo wo) IvER W femm T
144

(a) mﬁiﬁﬁﬁga?l
(b) | AhS

(c) &R dERi g @ (9 g6 Aew
fedam)

(@) =i sm

111. wfoarft @ ww == & foro Bt wfearft g

Swim f T FEd W A A osae ek
e < A 7 T v A

(@) fiaEm (d€ew)
(b) EETHF T (HEFIH)
(c) e el (Ssfeae wfdemmes)

(d) FeAHE (FRA-fersi)

112. fomm s # U1 & forw =6 Aniar a9

fru sma §1 W #, 3R wdl Frefaiaa § @
fora@ i w7t 27

(a) et gfemm
(b) THo THo o
(c) THo Hio Sfio

(d) Hio 380 THo Uho



107. In 2006, CISF raised a special unit called

the Special Security Group (SSG) to
provide security cover to protectees.
Which of the following is not a part of
its duty?

{a) Providing physical protection

(b) Evacuation of the protectees in
case of an emergency

(c) Providing mobile and static security
cover to nominated persons

(d) Providing protection to the relatives
and guests of the protectees

108. What do we call an occasion when people

show that they disagree with something
by standing around a person in
authority and not letting the person
leave until the person agrees to do what
the people want?

(a) Confinement
(b) Wrongful restraint
(c) Blockade

(d) Gherao

109. Intelligence can be collected from various

sources. Which one among the following
is not a reliable source for collection of
intelligence?

(a) Images obtained by satellites
(b) Grapevine communication
(c) Intercepted communication

(d) Information
espionage

obtained through
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111. The

110. Which one among the following is not a

part of Bomb Detection and Disposal
Squad (BDDS) equipment?

(a) Telescopic manipulator

(b) Bomb blanket

(c) Deep search metal detector

(d) Smoke bomb

illegal and unethical theft of
business secrets for use by a competitor
to achieve a competitive advantage is
known as

(a) sabotage

(b) subversion

(c) industrial espionage

(d) counter-intelligence

112. Sky Marshals are deployed to prevent

hijacking. In India, they are recruited
from

(a) Delhi Police

(b) NSG

(c) SPG

(d) CISF

[ P.T.O.



113. 3IZM ¥ HiaEa BF F fow g g @i g ¥
& 9H & gy ¥, Fefefas § @ #8991
we ’?

(@) e ame & AT A Al B
(b) fem ame # g A A I R

(c) fem ame & orer S i agafa B

(d) Wiga amm & 9 6 srgafa )

114, gfom (F-3@ww) afufmm, 1922, =
fenfis e 9 F e W I whR @n
g S 6 a7 gform 9@ % wewlt wowny A
21 F sieifies guan s« afufam, 1968
1 FA-H g 77 Fadt 27

(@) W 18

(b) ®RT 19
(c) €W 20
(d) =/ 21
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115. % ¥ ¥ I I IFd gl & MO
e ® AT THeEdl # gefta feTs
% s foran s wnfew, ok 3=

I3

3.

4.

wayr Jafhs & w9 0 (W V) Fla
foran s =nfee

v et & w9 4 Rfga e s
LI

wfasfea & w9 # fufga fwn s =l
wF 3= faers & gren s e

Hr R T 2 w1 WA W Ed I g

(@ 1, 23R4

(b) 2, 33K 4

(c)

1, 23R 3

(d) %aa 1 3R 4

116. T8 TAEE (TWo Tdo Uo) i e ¥
gar, Fefafas & @ F9-w, w=ha v
gfera & (dio To o who) e 7

(@) THo THo o

(b) Udo THo a‘]o

(c) 3TEW TF%ed

(d) THo Hio Sfto

42



113. Which one of the following statements

with regard to carrying power banks for
mobile phones and dry cells in flight is
correct?

(a) Both are allowed in cabin baggage.

(b) Dry cell is allowed in cabin
baggage.

(c) Power bank is allowed in cabin
baggage.

(d) Both are allowed in registered
baggage.

114. The Police (Incitement to Disaffection)

Act, 1922 shall apply to members of the
CISF as it applies to members of a Police
Force. Which Section of the CISF Act,
1968 says this?

(a) Section 18

(b) Section 19

(c) Section 20

(d) Section 21
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115. Vitally confidential documents passing

through the post should be enclosed in
an envelope addressed to the intended
recipient, and they should be

1. marked as strictly personal (by
name)

2. marked as strictly private
3. marked as restricted

4. put into another envelope

Select the correct answer using the code
given below.

(@ 1, 2 and 4

(b) 2, 3 and 4

(¢ 1,2 and 3

(d) 1 and 4 only

116. As per the MHA notification, which one

among the following is not a CAPF?

(a) SSB

(b) NSG

(c) Assam Rifles

(d) SPG

[P.T.O.



117. ¥ TegH &3 8, Frafafaa 4 @ e 32
R F FHE ANE g @ hogeen
Yo Tt I T /7

(@) =q <A
(b) & AT
(c) TS A

(d) TAIE TFENE AT

118. ¥ 3ieifis qan s afufam, 1968 %
we #, Fafafes 4 @ FF-w/a0-3 s
wedt e /27

1. 9T 8, 30 9«1 & tfigm 3R wwes @
atya 1

2. 34 9 &1 e Hg W ° fifga
B

3. 39 91 & GARYH IR WA gEhRs
# fafga amm

4. 3@ 9 1 WEA "eltEs § fifda
Bh|

Hra fow e 2 # wEm w= wd Iw gh)
(@) 134
(b) 2 3R 4
(c) 233

(d) Faa 1
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119. @ Sifgw vaga #, Frafafes 4 @ ¥9-3

g &7
1. W&
2. WA=\

3. wfa fasm

4. < g

Hia fow e 2 # wEm W= wd I ghu
(@) ¥ 1, 2 3R 3

(b) *aw 3 IR 4

(c) *aw 1, 2 3R 4

(d 1,2 334

120. &F-%vE (Fleewee) #, Een Fa o99@d

0 fewrd <an 27
1. S« Qv Ot 8
2. & e smm-gw % fuE @ s @

3. 99 @ I 3R e & A @
g/A=h sfia @

4. &2 ¥ IR T @ R &
H= e T gz #1 W@ W wd s ghg
(@) %a 1, 2 3R 3

(b) Fae 3 3R 4

() Faa 1, 2 3R 4

(d) 1,2, 33R4



117. In the National Capital Region, on which 119. Which of the following are included in
one of the following metro rail lines is total risk management?
CISF t ided?
cover not provide 1. Safety

(a) Blue Line Fire prevention

2.
. 3. Damage control
(b) Aqua Line 4. Insurance functions
(c) Magenta Line Select the correct answer using the code

iven below.
(d) Airport Express Line gv elow

(@) 1, 2 and 3 only

118. With reference to the CISF Act, 1968, (b) 3 and 4 only
which of the following statements is/are
not correct? () 1, 2 and 4 only
1. Section 8 deals with the super- [d 1,2, 3 and 4
intendence and administration of
the Force.

2. The superintendence of the Force 120. In fieldcraft, distance is underestimated

shall vest in the Central when
Government. 1. the light is bright
3. The command and supervision of 2. the object is large in relation to its
the Force shall vest in the Director surroundings
G al.
i 3. there is compressed/low-lying
4. The administration of the Force ground between the observer and
shall vest in the Inspector General. the object

4. looking uphill

Select the correct answer using the code

given below. Select the correct answer using the code
given below.

(@ 1 and 4

(@) 1, 2 and 3 only
(b) 2 and 4 (b) 3 and 4 only
(c) 2 and 3 (c) 1,2 and 4 only
(d) 1 only (d) 1,2, 3 and 4
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121. Tt wmm w1 s, fofa % oger, &

FHER % Ja9 ¥ IS JWEH I Hdl Iqh!
gt dvm ffY & s w@ % fow v @
Afr 3@ s T W, S & gw
anfaa 81 P

(@) 39 UM & T FA ® A gu © forht
ot faftr & srefm i ooy 7 =@ =+
Ft &

(b) fafe =1 afesrmo w@ @ 3t 2w sl
Fad gua W fum & anfm defiw
g

(c) ¥R g wfga, 1860 & A
ST TN & & A B

(d) vwdE de dfgaw, 1860 & e\
IR =TT FRA T andt @ g

122. F=fafaa 3 @ fora /o stoay /gt & fag

ISiae FRETE o afed foran s gear 27

1. 96 S & &9 § I H A 9
foreht fomfor 1 78 =0 & fow a1fy g
fify

2. uFa-fIF™ & ¥4 § 3w § aH 9
ot 7= &t T8 A F fore faewies vard
gr

= fou T e w1 I W wE I g
(@ Fa€ 1

(b) e 2

(c) 1322

(d I 13MmAE2
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123. € ufar dfgar, 1973 & 3efim wufv &

siftprew % ey ¥, Frafafigs st w fEw

Hifsw

1. fafufegan v gufe & eem &=@
% foTg s @ 9 i 3u-Fas
¥ afm ufe # w1 gfem afted
sy gufa 1 AfipEw @ @
AR W THA 2, IR Ik UW T
faam =3 & AW 2 B 3% Gl @
ferelt Gifa @ fowd an sraf@ &t w1 wawdt
21

2. 394w 9 ¥ foT U e F a9 qF F
u9g € B, 9 9% R omew R 9™
# i g &t eEfy F ot e #
W T FEh! I T W & St )

IFT FUA § F RA-T1/HE-T TE R/R?
(@) Fa€ 1

(b) e 2

(c) 1 3R 2aF

(d Faq13MmAdE2

124. % foen ufode, sR«a #i 9 @ IW &

foreft gferer srftrardt =t foret oft wom w fafam
s 9% H IO Fe H o & fQ
gRE FA WER ¥ WAl ¥ T awged #
it &

1. Fetfua sEaEs
2. e gaTE
3. e Feqd

= fau U e w1 W W Ed W ghu)
(@) Fa€ 1

(b) F=E 2

(c) Faa 2 3R 3

(d 1,23W3



121. An employer of an establishment deducts

an employee’s contribution from his
wages for crediting the same to the
Family Pension Fund as per law but
does not credit the same as required by
law. The employer

(a) would be guilty of committing no
offence under any law on his
promise to deposit the amount

(b) would be guilty of having violated
the law and would be punishable
only under the relevant labour
legislation

() would be guilty of having
committed the offence of criminal
breach of trust under the Indian
Penal Code, 1860

(d) would not be guilty of having
committed the offence of criminal
breach of trust under the Indian
Penal Code, 1860

122. The punishment of imprisonment for life

can be awarded for which of the
following offences?

1. Mischief by fire to destroy a
building used as a place of worship

2. Mischief by explosive substance to
destroy a human dwelling house

Select the correct answer using the code
given below.

(a) 1 only
(b) 2 only
(c) Both 1 and 2

(d) Neither 1 nor 2
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123. With regard to seizure of property under

the Code of Criminal Procedure, 1973,
consider the following statements :

1. A police officer not below the rank
of Sub-Inspector of  Police
conducting an investigation for
identifying unlawfully acquired
property can make an order for
seizing the  property under
investigation if he has reason to
believe that the property in
question may be concealed or
transferred in any manner.

2. An order made as above shall have
no effect unless the same is
confirmed by an order of the court
within thirty days of its being
made.

Which of the statements given above

is/are correct?

(@) 1 only

(b) 2 only

(c) Both 1 and 2
(d) Neither 1 nor 2

124. A District Magistrate may by warrant

authorize a police officer above the rank
of a constable to take possession of an
objectionable article deposited in any
place. These articles include

1. forged documents
2. false seals
3. obscene objects

Select the correct answer using the code
given below.

(@) 1 only

(b) 2 only

(c) 2 and 3 only
(d) 1,2 and 3

[P.T.O.



125. ¥s Ui dfgan, 1973 % e qameh & gay
7, Fr=fafas su=i w fa=w fifve .

1

FIE dEf IR q9 d% Yadd § @ o
7% f 3 I F@ T A T E©
& R o wman @ 1 9w @ 3@ Frenfia
& = fom s )

FE e aRe W R off R W
Fromfea & foran s wepan 2, aR wefte
A W Tl FE AW AEed #
srfererTitar @ R )

foren ooz et +ff ofeg =t @
ganeft % fou qersh are s/l #= gFa
?, el Y ofdy sqny A A F s
2l

IR HUE § ¥ BH-T1/BA-A wd 2/E7

(@) Faa 1

(c)

(b) Fad 2

2 3R 3 (d) 13K 3

126. 33 Uik wfEgar, 1973 & 3t wufw ifwew
% way #, Frafafaa sui w fa=m $ife .

15

#% gform sttt freht Ut wufe
sty o war @ foms o # wE R
o =% s g8 21

#§ gfera ittt fnelt ¥t dufy #
IFrEda R Tehar & S vt aftfeufeat
aré st 2, Ford fredt sy e &
Hag

IR v i 1 Tl w1 g
TAR WU & w0 B 3N T@F Fe &
THER Mt AU B, @ T qid
Hramft g sehl fosht 1 fdw 3w
2l

30 woEl # A BH-E /-0 G 2 /E

(@) Faa 1

(c)

() FaA 1 3R 2

1,233 (d %« 3

KASC-A-GIP/55A

48

127. F=fafaa § 4 F59-a1 F97 v T8 27

(@)

(b)

(c)

(@)

#E ufRe T® A1 AR WR @i
ARRE F F1E e I IHA H) qeni
% fou e st = gewar 21

HI§ daRh TR a9 S B S v 2
o ot s @1 fammw & wWise ¥
fore sravas #i fanly swaw @ < &
TR A AR H TE T 6 ¢ 6 9w
Torelt safeh & st © 21

1§ qoRl gRe a9 SR fEar w1 g @
Wq e % W I8 fIewm ww @
R 5w = = s@ww o
foamw & fouw #E sews @Ew W
FA & fore gmw 9’ e mn @, ' W@
awr & |

el forty T Y wumer qemeht # fw
Fereht aRe S faar s g 21

128. YR 38 Gfear, 1860 % e fga & 3iata,
Frafafa & @ FF-a1/#9-8 wita 2/87

foreht =afts 1 30 v @ ufEw 31 B
a8 39 At &I fedt fafem sifter =
TR A F fore 3difa = a1 fedt =fe
1 g@fere M 2 % 3w W ftmr w=
Wi e @

ok fifa i Swon w1 A FHaE
1 I 1

G, 9 1 FHRSE % ®9 § FIE GhR
HET I GehR SRR T

9 few T 2 1 W W wd I ghg

(@)
(b)
(c)
(@)

1 3R 2
133
Fad 3
2 3R 3



125. Consider the following statements with
regard to search under the Code of
Criminal Procedure, 1973 :

1. A search warrant remains in force
until cancelled by the court issuing
it or the same is executed.

2. A search warrant cannot be
executed at any place if the place
concerned falls outside the
jurisdiction of the court issuing it.

3. A search warrant may be issued by
the District Magistrate for search of
a person who has been confined
where such confinement amounts
to an offence.

Which of the statements given above
is/are correct?

(@) 1 only (b) 2 only
(c) 2 and 3 (d 1 and 3

126. Consider the following statements with
regard to seizure of property under the
Code of Criminal Procedure, 1973 :

1. Any police officer may seize any
property which may be suspected
to be stolen.

2. Any police officer may seize any
property which may be found
under circumstances which create
suspicion of the commission of any
offence.

3. If the value of the property seized
is less than one thousand rupees
and the person entitled to its
possession is absent, the court may
direct its sale by auction forthwith.

Which of the statements given above
is/are correct?

(@) 1 only (b) 1 and 2 only
() 1,2and 3 (d) 3 only
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127. Which one among the following
statements is not correct?

(@)

(b)

(c)

(@)

A Magistrate may issue a warrant
to search a document or parcel in
the custody of Postal or Telegraph
authority.

A search warrant may be issued
when it is not known to the court
that a particular document or thing
necessary for the purpose of any
investigation or trial is in the
possession of any person.

A search warrant may be issued
when the court has reason to
believe that the person who has
been issued summons to produce
a document necessary for any
investigation or trial will not
produce the same.

A search warrant may be issued for
general search of a particular place.

128. Bribery, under the Indian Penal Code,
1860, includes which of the following?

1.

Giving a gratification to any person
with the object of inducing him to
exercise any electoral right or
rewarding any person for having
exercised any such right

Making of a declaration of public
policy or making of a promise of
public action

Giving or accepting a treat in
the form of food, drink or
entertainment

Select the correct answer using the code
given below.

(@)
(b)
(c)
(@)

1 and 2
1 and 3
3 only

2 and 3

[ P.T.O.



129. F=fafaa d @ S9-w1 = gifdafes e 27

(a) T fwer i swm
(b) TER S S S
(c) TEHE I AHR TE0 3
(d) TEA JeqaETs T

130. wHa AR wew Afufmm, 1993 & e #,

Frferfea 3 @ #9-w1 wum wd 27

() Feddt Tsa amE AR W % seam
IR e Fao Ui 9 H @y a%
AT 9E YR A &

(b) Tl T amE AfteR M & sisam
IR TG Fael B: 94 ) FGY qH G
92 YR 4 &

(c) Tt Tsa uma SRR 3T & e
3R GeE oiF a9 Hi qafy d% AT ug
TR0 FA § 3R 3 gAgRe ¥ um da #)

(d) T T=a amE iR s ¥ st
IR Hew uig ¥ & uH 3R oy H
fore g forg s weha §1

131. "AWa AUFR wEw afufem, 1993 & we &,

Frafafga ot w fomm fifvm .

1. U™ wMa YR mEm § w9-8-%4
TF Higa 9eed w1 B e R, SR
Ha ARl ¥ dafta fawdt 1 3@ @
I I B
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2. UEE uME ARER 3w § wH-U-%H
@ v # B e R, 5= ama
ARl @ weftm gt &1 3@ @
SRR I B

3. feamemt & fom g sgw & e«
F9 WA & fow wie e sfer
TR 1 HE TUET ST 2|

I FHYA! § W RA-T1/RH-0 T R/E?
(a) Fad 1

(b) a2

(c) Fae 2 3R 3

d 1,233

132. YRA % Gfaum =1 fF=fafed § @ $9-u1 gy

Fraws iy & wefva 27

(@) FFWT 19 (b)) IT=WT 20
() FFWT 21  (d) TSR 22

133. WRA & ®uW & Fefafes 4 ¥ fra sg=e

T fry o EeivEl #1 Yada 3E as T R
T 27

(a) T 20(1)

(b) TR 20(2)

(c) TR 21

(d) =T 22(4)

134. 9d & GOuH F Igesc 22 & A

frafefiga & @ |- s1fter frwr e m

3R Freg W@ U fredt =af % fow s ww @

Iuetsy TE 27

(@) FHHG IR F AER

(b) TrwEaT & HROl B A F AFR

(c) wz & witerr & fomr fiRgadt &
| 92 f @iy 4 i eEfy &
for e 7 w3 @1 arfter

(@) ot w * el faftr sqeamh g st
gfere A #1 AR



129. Which one of the following is a

constitutional body?

(a) The National Commission for
Backward Classes

(b) The National Commission for
Scheduled Tribes

() The National Commission for
Protection of Child Rights

(d) The National Commission for
Minorities

130. Which one of the following statements

with regard to the Protection of Human
Rights Act, 1993 is correct?

(a) The Chairman and Members of a
State Human Rights Commission
hold office for a term of five years
only.

(b)) The Chairman and Members of a
State Human Rights Commission
hold office for a term of six years
only.

() The Chairman and Members of a
State Human Rights Commission
hold office for a term of three years
and are eligible for reappointment.

(d) The Chairman and Members of a
State Human Rights Commission
can be reappointed for one more
term of five years.

131. Consider the following statements with

regard to the Protection of Human
Rights Act, 1993 :

1. It is mandatory to have at least
one woman Member in the National
Human Rights Commission having
the knowledge of, or practical
experience in, matters relating to
human rights.
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132. Which one

2. It is mandatory to have at least
three Members in the National
Human Rights Commission having
the knowledge of, or practical
experience in, matters relating to
human rights.

3. The Chief Commissioner for
Persons with Disabilities is deemed
to be a Member of the National
Human Rights Commission for
certain purposes only.

Which of the statements given above
is/are correct?

(@) 1 only

(b) 2 only

(c) 2 and 3 only
(d 1,2 and 3

among the following
provisions of the Constitution of India
relates to preventive detention?
(a) Article 19 (b) Article 20
(c) Article 21 (d) Article 22

133. Amendments to which one among the

following Articles to the Constitution of
India have not been enforced till now?

(a) Article 20(1)
(b) Article 20(2)
(c) Article 21

(d) Article 22(4)

134. Which one among the following rights is

not expressly provided under Article 22

of the Constitution of India to a person

who has been arrested and detained?

(a) Right to get bail

(b) Right to know the grounds of arrest

() Right not to remain detained
beyond twenty-four hours of arrest
without the authority of a
Magistrate

(d) Right to be defended by a legal
practitioner of his choice

[ P.T.O.



135. <@g uishan @fgar, 1973 & 1 fingar fovw o

=afes H RFmea @ et e s w
ﬁweﬁﬁm:

1. Trear feu o fdt safe 1, =
g fafea 6fd @, =d 6 Rrred =9 F
foru s feam s wewar )

2. I fingar fp o =afw $it fimre w3
g AR WS a1 RS ®9 §
fowre 2, @ ot swmedt A fimmea wien
& difeurdt srav et wifEw)

3. IR fimme w1 aen = aEfys T
i &9 @ o @, @ @ A %
wdagr § forn st srfad @ R)

I FoAl § ¥ F-T/FE-9 T R/E?
(@) ¥ 1

(b) Fad 1 3R 2

(c) Haw 2 3R 3

(d) 1,233

136. WRd & Hfaum & fafafga § & fF 3uay 8§

JaT 7™ S8 o wa w1 gAfaR SR R qun
34t YR &1 3= dd 49 Siafg fR e g,
wg TG & o R e ¥ wdste
wieFl & foau afed @ sftdifte +@ @
Frafa =t Fan?

(a) ¥ 23
(b) IR 24
(c) ¥T=BT 25
(d) < 26

KASC-A-GIP/55A

52

137. WA weg fufem, 1872 & idfiv ‘e’ |

w1 Iifma 27
1. ®YE, S e 9o & fawg & geg #

%, 3% AW FAW G @iiEEl W
fopy I <t T <@ ®, A e AT ®

2. =rreE & e & fag 9w B T adt
e, ool o i wita
g

= fau o e w1 W W Ed IW ghu)

(@) %« 1

(b) a2

c) 1 3R 2 3F

(d @ 13ImIA2

138. wRdE wiew Afufvaw, 1872 & Hew H,

Frafafaa faftes wamEt & @ F9-w @@ &

27

(@) V& 399y ? % =wew fed aa f
IR L GhTT, @ A A1 al W
A H GG g AW R, AR I
i @ o S 8, o 3u wea
T T G

(b) & sy ? f e fed aw
IYYROT M, & TET WH q H
wifsa 7, e g FEfaa 9@ R
e 8

(c) &l Iyew B T =maew fedt qem i
IUYWUT HOW, FTE A Fod A
e

(d) & % u= aea et o aea w1 g
Heq wifva fen mn R, @@ AmeE |
TH qF & Wifed & IH W 39 F &
ifed "M SR 3@ JETfed A F
e % T wew fau s & g &
m



135. Consider the

following statements

relating to identification of arrested

person under the Code of Criminal

Procedure, 1973 :

1. An arrested person can be directed
to subject himself to identification
in the manner prescribed by the
court.

2. If the person identifying the person
arrested is mentally or physically
disabled, the identification process
must be videographed in all cases.

3. The supervision of a Magistrate is
not mandatory if the person
identifying is mentally or physically
disabled.

Which of the statements given above
is/are correct?

(a) 1 only

(b) 1 and 2 only
(c) 2 and 3 only
d ‘1,2 and 3

Which one among the following
provisions of the Constitution of India
prohibits forced labour such as traffic in
human beings, Begar and such other
similar forms of labour, but does not
prevent the State from imposing
compulsory service for public purposes
without discrimination?

(a) Article 23
(b) Article 24
(c) Article 25
(d) Article 26
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137. What does ‘evidence’, under the Indian

Evidence Act, 1872, mean?

1. Statements in relation to matters of
fact under inquiry which the court
permits or requires to be made
before it by witnesses

2. Documents produced for the
inspection of the court including
electronic records

Select the correct answer using the code
given below.

(@) 1 only
(b) 2 only

() Both 1 and 2
(d) Neither 1 nor 2

138. Which one among the following legal

propositions is net correct with regard
to the Indian Evidence Act, 1872?

(a) When there is a provision that the
court may presume a fact, it may
either regard such fact as proved
unless it is disproved or may call
for proof of it

(b)) When there is a provision that the
court shall presume a fact, it shall
regard such fact as proved unless it
is disproved

(c) When there is a provision that the
court shall presume a fact, it may
call for proof

(d) When one fact is declared to be
conclusive proof of another, the
court shall, on proof of one fact,
regard the other as proved and
shall not allow evidence to be given
for the purpose of disproving it

[ P.T.O.



139. uRd™ wiew  wfufEm, 1872 % wdiN

‘e’ % Jiaria s e T 87

(a) wfge

(b) W™

(c) Tafae =mmdm

(d) e o % fow 39 w9 | wiftesa safw

140. fr=fafaa 4 @ frg ot #§ 3=an = EeE 3

fingar =afts & siftert & weew % for g
i st fep?

(a) o FHo Y FI1 UM S T
(b) SfTar AR F99 IW 9 TF
(c) ¥ W' F9 faEr T

(d) TS FER F9H IR 69

141, =1 = AR Afufm, 2005 A e

gristt d @ fReed oM, @R 3w wiiie
a1 IR gren weAl i oft aea e
% Al | Haft g1 F TR | g2
& 27

(@) 91T 18

(b) €W 20

(c) 9w 24

(d) =726

142. F=fafad § & F-a1 @ 78 27

s fare sfufem, 1947 9 97 10A
% e faam & wreeay & o S=sw fdw
foram 1 |

(@) & 6 ®i fafies e femm & @
BN Y 3erE R

(b) & S R FHER faare # aemey
% fore fefera forg s & forw wewa &
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() Taam # gam 10 & s Fefm fag
9H @ @ o P R S % ugm
foredt oft T

(d) & =fw a1 Afear w5, o areeay
= 1 fafafde fran so

143. fie faare afufgw, 1947 & sefin et

wfufvia % yaeme 3R TRy B9 % ey #,
Frafafaa & & @9-w Fow wd T 27

(@) W TEEE, A a1 W st
F W R areeey qur @ ik,
wa @R g0 W@ afufieis & wfy
# airE ¥ 30 faa fit FemwEty F fiw
weRTrTa feram smam

(b) o, agfea TR g0 IEH THERE
i g ¥ 30 f& & 3EEm w yady
B

(c) IR wgfaa wr H 78 T & % o
AFFGENT W YWE Sl a1 A
AuR | 3w Afufola w gweh we
FraHfa g, qf wgfaa weER =it W
Tt & B 30 7 A wemEfy ¥ sEEm
o oft Tar vl e T g

(@) Toret sifufaeig i swedsa 9™ % gag
# wfaa wwr § fifea wfwal sreifes
2 3t wme A el o wifted @
I Hefifa A A ravaswa T8 21



139. ‘Court’, under the Indian Evidence Act,

1872, does not include which of the

following?

(a) Magistrates

(b) Arbitrators

(c) Civil Judges

(d) Persons legally authorized to take
evidence

140. In which one among the following cases,

the Supreme Court issued detailed
directions for the protection of the rights
of the arrested person?

(a) D. K. Basu vs State of West Bengal
(b) Lalita Kumari vs State of UP
(c) Rudul Sah vs State of Bihar

(d) Parmanand Katara vs Union of
India

141. Under which one among the following

Sections of the Right to Information Act,
2005 is information pertaining to
violation of human rights not exempted
from disclosure by intelligence and
security organizations established by
the government?
(a) Section 18
(b) Section 20
(c) Section 24

(d) Section 26

142. Which of the following is not correct?

A voluntary reference of dispute to
arbitration under Section 10A of the
Industrial Disputes Act, 1947 can be
made

(a) where the industrial dispute exists
or is apprehended

(p) when the employer and the
workmen agree to refer the dispute
to arbitration
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143. Which one

(c) at any time before or after the
dispute has been referred under
Section 10

(d) to such person or persons as may
be specified in the arbitration
agreement

among the following
statements in respect of publication and
commencement of an award under the
Industrial Disputes Act, 1947 is not
correct?

(a) Every arbitration award or award
of the Labour Court, Tribunal
or National Tribunal shall be
published by the appropriate
government within a period of
30 days from the date of receipt of
any such award.

(b) An award is enforceable on the
expiration of 30 days from the date
of its publication by the appropriate
government.

(c) The appropriate government can
declare that such award is not
enforceable even after the
expiration of 30 days, in case it is
of the opinion that it is inexpedient
on public grounds affecting the
national economy to give effect to

the award.
(d) The powers vested on the
appropriate government with

regard to making an award
unenforceable are absolute and it is
not required to refer the matter any
further to any other authority.

[ P.T.O.



144. Aefe faar  ifufeem,

1947 & 3=
‘FHER’ & i, Frafafea & @ e Ao
1/f6 Afvet & =afes sqmar /31 87

1. Tt e d yomefies =@l ® 2@ &
foru s =afee

2. Toreft 3w & aliht @l = w0 & foo
Frafea = fw

3. Tt s & stfterdt @ e & w9
% fafsa =afw

4. fodi 3w A diparcRs wE ® w0 *
foru Fanfoa =t

He fiu o 2 w1 R ad Iw g
(@) Faa 1

(b) Fad 2 3N 4

(c) 2,334

d) 1, 23R4

145. f=fafiga & @ sF-w, St it FR & s

27

(@) X ftanfiar i 3y &1 B W W e
et ¥ fraw & s ®

(b) X % T d@fde & T 7@ R
A % FoRa®y Il Y1 GHH F
EIGiE

(c) X &% T gr fnedft oft wror & 3ah
a1 GHH S S R

(d) X & JFEAE FaE & w9 # fw M
T F FogEy Ig% ESE w1 gdadE
o e wman &
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147. FHat ufee  arfufEm,

146. Frafafa & @ fra/feR ot e &

®q # ffera foran s wepan 87

1. 3fe fywear searlt wwr # 2, d e
FFr I e Feem 3 sue-gmed
w4 8 9l & e 9z 38 ghen & v
W g @

2. 3R Fyrkar srurf ywr i R, @ I
=t W@ avft F F0 F e s
1 It 2, Tl a9 3@ ghem ¥ Wy
Fremfea we & fore wmdf o

3. R Frean e yER A R, @ TR
W@ e & gl IuNH-amed #H 8
St 8, o mew #+ & fore a7 gefen &
g gaef o

= fau T e @ W W wEd IW g

(@ 233

(b) 133

(c) Faa 3

(d) Faa 1

1923 & 3,
frafafas 4 @ fq amel d #58 Faes
yfdeRt 1 TeR MY

1. &l Tt wiar it o feee 8@ Som
gee g1 Aafeek afa i a2

2. v @fd & IR @ A F fow uof
ﬁm@?ﬁ%

3. R wHIW # Iu% PR F g §
Jufrer @i wiE St &

= fau T g2 = W@ W= wE W g

(@) Faa 1 3R 2

(b) Faw 2 3R 3

(c) Fa« 1 3R 3

(d 1,23R3



144. Which of the following categories of

persons is/are ‘workmen’ under the
Industrial Disputes Act, 1947°?

1. Persons employed to look after the
administrative functions in an
industry

2. Persons employed to do technical
work in an industry

3. Persons employed as officer or
employee of a prison

4. Persons employed to do operational
work in an industry

Select the correct answer using the code
given below.

(a) 1 only
(b) 2 and 4 only
(c) 2, 3 and 4

(d) 1,2 and 4

145. Which one among the following amounts

to retrenchment?

(a) X retires from his services on
reaching the age of superannuation

(b) X is terminated from his services
due to non-renewal of his
employment contract

(c) X is terminated by his employer for
any reasons whatsoever

(d) X is terminated from his
employment by way of punishment
inflicted by way of disciplinary
action
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146. Which of the following can be said to be

classified as partial disablement?

1. In case the disablement is
temporary, it reduces the earning
capacity of the employee in any
employment in which he was
engaged at the time of the accident

2. In case the disablement is
temporary, it disables the person
from performing all works that he
was capable of performing at the
time of the accident

3. In case the disablement is
permanent, it reduces his earning
capacity in every employment he
was capable of undertaking at the
time of the accident

Select the correct answer using the code
given below.

(@) 2 and 3

(b) 1 and 3

(c) 3 only

(d) 1 only

147. In which of the following cases will

an employer be held liable to pay
compensation under the Employees’
Compensation Act, 1923?

1. Where a personal injury is caused
to an employee by an accident
arising out of his employment

2. Where the injury caused results in
total disablement for two days

3. Where the personal injury to the
employee is caused in the course of
his employment

Select the correct answer using the code
given below.

(a) 1 and 2 only

(b) 2 and 3 only

(c) 1 and 3 only

(d) 1,2 and 3

[ P.T.O.



148. FHIM o wifufam, 1923 F ded &,

Frfafaa & & #9-a1 %9 wd 27

(@) ¥@ HAfufEm % e Ge9 wwgea afdt
Ad-mies Hem wHud 4 fm fee
=t @ wugfes a1 Wi a1 dsia Ry
WM A & H |

(b) gH FA Ao A gE W = R
W gHET, WA @ ghen A guw IuF
ufed &9 % qug 7d @ 8@

(c) d-TTferh e wiH F * R srfrew
w1 At foret oft oRfeafa & Wt wegva
W % T R T foRan s wewar 21

(d) FHar i T # qedieht B F e °,
sifufem & anfim @eg ad-mifes wem
1 YAfdeAtR g g foRan S @ |

149. FHart wigsy ffy v vl 3uay sifufem,

1952 & 9 wiad widsy ffy =fm &
IuEdl % Yadq § g 39 & gey #, FefaRaa
FY1 W fomm i

1. IR wyfed w@r 6 72 1@ 2 5
W % ARE 6l W F awa Igh
wowr ffy % fem, @ afufem §
fafafde frmt & san #a e 0 &,
@ g @ S wait|

2. R felt T & wder, wivs fafy,
TIE A I9eH I i g W
SN W R R, W gl @
3 FW IgEA 6 & o 39 AuFEm
% e Iuafera &, o g2 & 1 wah
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3. & uHt gz 4 W 2, % w afufam &
s AfEm (vr 6) 3R Pdst g
M G T IEURY (9WT 7A) & FEla
Iuay AR TE R

3T HUA T § FH-U1/R-0 ad B/87
(@) Faa 1

(b) Fa« 2 IR 3

€ 1,23R3

(d) Faa 1 3R 2

150. gol® W€, o A, s @ e

st & wme foreh wrfad % @t @ &

M, iefe faare sftfem, 1947 %

R #8 Faee fefafes & @ S9-d@

FaTE T F TH?

1. 3 ¥a1 wal &, S W wEa % ynw
¥ 3% Teat foreft swdm Y wmp Bt §,
e ¥ oo fedt fawa & am A
gitafda s

2. fodt wder = <faa faae ¥ swaw
foreft sre=m % foru Iifaa & an efeq
HE

3. frft wifm wdem =, so% fmg
Il wffa afda F F ugr
I e a1 Efed &=

H i e 2 w1 v w3 g
(@) a2
(b) F 3
(c) 132
(d) 133



148. Which one of the following statements

in the context of the Employees’
Compensation Act, 1923 is correct?

(a) The lump-sum or half~-monthly
payment payable under the Act may
be assigned or charged or liable to
pass on to any person other than
the employee.

(b) A notice of compensation may be
entertained by the Commissioner,
even if the notice of the accident
was not provided when the accident
occurred.

(c) Any right to receive half-monthly
payment can under no circum-
stances be redeemed by payment of
a lump-sum of such amount.

(d) The half-monthly payment payable
under the Act may be reviewed by
the Commissioner in case there is
a change in the condition of the
employee.

149, Consider the following statements in

respect of granting exemption from the

operation of the provisions of the

Employees’ Provident Fund Scheme

under the Employees’ Provident Funds

and Miscellaneous Provisions Act,

19562 :

1. In case the appropriate government
is of the opinion that the rules of
provident fund as to the rate of
contributions of an establishment
are not less favourable than those
specified in the Act, exemption may
be granted.

2. In case the employees in an
establishment are in enjoyment of
benefits in nature of provident
fund, pension or gratuity, which
are not less favourable to the
employees than the benefits
provided under the Act, exemption
may be granted.
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3. Where such exemptions have been
granted, the provisions regarding
contributions (Section 6), and
determination of money due from
employers (Section 7A) under the
Act, will not apply.

Which of the statements given above
is/are correct?

(a) 1 only
(b) 2 and 3 only
(c) 1, 2 and 3

(d) 1 and 2 only

150. During the pendency of any proceeding

before a Board of Conciliation, Labour

Court, Tribunal or National Tribunal,

which of the following actions cannot

be taken by an employer under the

Industrial Disputes Act, 1947?

1. Altering in regard to any matter not
connected with the dispute, the
service conditions applicable to
a workman immediately before
the commencement of such
proceedings

2. Discharging or punishing a
workman for a misconduct that is
not connected with the pending
dispute

3. Discharging or punishing a
protected workman after instituting
a Disciplinary Committee against
him

Select the correct answer using the code

given below.

(a) 2 only
(b) 3 only
(c) 1 and 2
(d) 1 and 3

[ P.T.O.
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